INSTRUCTION MANUAL

AL-540A
Centre Lathe (240V)
356 x 1000mm Turning Capacity - 38mm Bore

L187D



m‘““pgge‘fi" . Instructions Manual for AL-540A (L187D) 23/08/2017
g
i
| INDEX
Page

BRIEF SPECIFICATION 1
| GENERAL LAYOUT OF LATHE 2
; FOUNDATION PLAN 3
! INSTALLATION
_; LIFTING 4
g CLEANING 4
| INSTALLING 5
| LUBRICATION CHECKS 6
CHUCKS AND CHUCK MOUNTING 7
OPERATION
LATHE CONTROLS 8
ELECTRICAL CONTROLS 9
j SPEED CONTROLS 10
THREADS AND FEEDS 12
THREADING DIAL INDICATOR 14
5 APRON CONTROLS 15
| CORSS-SLIDE AND TOP SLIDE 16
" TAIL STOCK 17

SERVICING & MAINTENANCE

LATHE ALIGNMENT 18 :
END GEAR TRAIN 20

DRIVING BELTS 20

SLIDE WAYS ATTENTION 21
CROSS-SLIDE NUT 21
LUBRICATION 22
LUBRICATION DIAGRAM 24

WIRING DIAGRAM 25,

PARTS LIST

ASSEMBLY- 43



23/08/2017
Instructions Manual for AL-540A (L187D)

Page 3

BRIEF  SPECIFICATION

- LJ___
Tm..___

o o B = |
f C 740mm 2g°
MODEL—SIZE] A |T B .| C _‘_-___]
!i 1340 1 1000mm 40m 1800mm T1in | 1820mm75 4 in I, T160mm46 e m.l 1054mm41 ain il
!j 1440 Ii 1G30mm 40im |[ 1800mm 71in ’wzom mistyIn ; 1S mm47 In |‘ 1067mm42in |1
SPECIFICATIONS
DESCRIPTION INCH SYSTEM ' METRIC SVSTEM
"MODEL T 1340 Y 14504 | 1340 [ 14a0a
SWING OVER BED 13" 14" Y ] 355
SWING OVER CROSS SLIDE | 7-5/8° | 8-5/8" } 195 | 220
DISTANCE BETWEEN CENTERS | 40 [ 40" T ioeo { 1000
SWING OVER GAP 19" I 20° ,! 480 |  sos
WIDTH OF BED 8-1/9" j' g1/ | o | 206 |
NUMBERED OF SPINDLE SPEEDB 8 or 16(2 speed motor) T_ B or 16(2 speed motor)
RANGE OF SPINDLE SPEEDS | 90 or 45- 1800RPM R 90 or 45- 1800RPM
HOLE THROUGH SPINDLE ' 1.1/2" || 38
SPINDLE NOSE ' D1-4 Camlock { D1-4 Camlock
TAPER OF SPINDLE BORE M.T.No.5 [ M.T.No.5
TAIL STOCK QUILL TAPER M.T.No.3 T M.T.No.3 1
TAIL STOCK QUILL TRAVEL 41/2" N 115 N
| CROSS SLIDE TRAVEL 6-1/2 > 165 [ 180 |
COMPOUND REST TRAVEL 3172 4 J 50 | 100
NUMBER OF METRIC THREADS 22 [ 37
RANGE OF METRIC THREADS ,-' 0.45-7.5MM T 0.4-7.0MM
NUMBER OF INCH THREADS | 20 I 28 -
| RANGE OF INGH 1 TH_HEEES__-—_T_-—‘.______;*TT 2Tl |  dsetel
LONGITUDINAL FEEDS T ﬂmmﬁﬁfh&h_—'"I""_'?%'B?:To L
| CROSS FEEDS - Jlr___ (40)0.0003-0.0 0100m}re\:_ ! (42)0.01 5_5__2"@@ '_H
MACHINE NET WEIGHT _: 1540 1b | _te50h | 700kg e :5059__:{
CROSS WEIGHT L1810l ; 1936 Ib | 820 kg ; 880kg

_.1____



Page 4 Instructions Manual for AL-540A (L187D) 23/08/2017

GENERAL  LAYCUT OF LA~-:

14 13.012-11 10 -

1.Headstock 9. Tail-end mounting boie
2.3pindle 10.Lead scraw |

3.Top slide 11.Chip pan

4.Saddle & cross-slide 12.Apron

5.Splash guard 13.Foot brake

6. Tailstock 14.Head-end mounting bl -

/.Bed 15.Gear box

8.Mounting feet 16 .End cover
—— 2 S



Page 5

FOUNDATION PLAN

Instructions Manual for AL-540A (L187D)

23/08/2017

540mm
2125

Y

% 1035mm. 40.75"
i
! For Tail stock £
' £
[-—.-—removal 2l
I —
[ ™
: E|
D | «
lﬁk/ 7 —4 !
Ed
g E
e o™
For Punp removal
630 mm
24.8"
o
350rnm_h < 205mm - ‘:
13.8" 16" Vs
: - :
[ =
= | T 2
o = ™
© =2 =
- o S
3 |3 2 3
S |= T =
o &
e
o 8 ¥
£ 3 2 3
2 215mm | 215mml = B
= 8.5" o K ; 2
lnlce = . 8.5 E
| g
O L] V
A E Jl.
. s |
E p, o
Eis o
ol
o Y
A £ E‘Ji
\._L A i z
g ~
J _he
oo \

For motor removal

L=

For End eover removal

Model:1340.1440-2520mm. 99.3"




Page 6 Instructions Manual for AL-540A (L187D) 23/08/2017

LIFTING CLAMPING PLATE

EYEBOLT

Use the sling-chain to sling

Lathe showed as in fig 4 position
the saddle and tailstock along

the bed to obtain balance
IMPORTANT: DO NQT USE SLINGS
~AROUND BED AS LEADSCREW AND
FEEDSHAFT MAY BE U BENT

0©

Fig.4 ‘

CLEANING

Before operating any controls,use white spirit or kerosene to
remove the anticorrosion coating from all slideways and the
endgear train

DO NOT USE CELLULOSE SOLVENTS FOR CLEANING AS THEY WILL DAMAGE
THE PAINT FINISH

Machine surface becomes brigh't immediately after cleaning
using machine oil or slideway lubricant. Use heavy oil or
grease on the end gears.



Page 7 Instructions Manual for AL-540A (L187D) 23/08/2017

INSTALLING

Located the machine on a solid foundation, allowing sufficient area all
round for easy working and maintenance (see Foundation Plan). The lathe
may be used free-standing or bolted to the foundation. |

Free-standing: position lathe on foundation and adjust each of the six
mounting feet to take equal share of the load. Then using an engineers
precision level on the bedways (as in Fig 5) adjust the feet to level up
machine. periodically check bed level to ensure continued iathe accuracy .

Fixed installation: position lathe over six bolts (1/2 in. or 12 mm.
diam.) set into the foundation to correspond with holes in the mounting

feet. Accurately level the machine as in Fig 5, then tighten hole-down

bolts and recheck bed level
HEADSTOCK ENGINEERS PRECISION LEVEL TAIL STOCK

=il ey

L =
_— ' j:
=" Fa=r
;_"" U = L ﬁ\_'%
£ _r BEDWAYS

SADDLE &
CROSS-SLIDE —_———— -
P q

.
L

[ 4

~L

000!;'_"_"____ J
|
E MOUNTING FEET
MOUNTING
FEET gl

-
\ Fig. 5

MOUNTING FEET
rees S =




Page 8 Instructions Manual for AL-540A (L187D) 23/08/2017

LUBRICATION  CHECKS

Before operating the machine, make the following important checks:
I The headstock is filled to level marked on oil sight window with
Shell Tellus Oil 27. '
2. The gearbox is filled to level marked on ojl sight window with
Shell Tellus Qil 27.

3. The carriage apron is filled to level marked on oil sight window
with Shell Tonna 33, '
4. In addition, apply light machine oil or way lubricant to the points

shown on lubrication diagram which require daily oiling.

HEADSTOCK @

0% =

c e
\ "6) ﬁ—-—q(’flr(r(

S



Page 9 Instructions Manual for AL-540A (L187D) 23/08/2017

CHUCKS AND CHUCK MOUNTING

WARNING: GREY-IRON CHUCKS MUST NOT BE FITTED ON THIS
HIGH-SPEED LATHE. USEONLY DUCTILE IRON CHUCKS.

When fitting chucks or faceplate ,first ensui'c‘ that spindle and chuck
tapers are scrupulously clean and that all cams lock in the correct positions.
See Fig 7, it may be necessary when mounting a new chuck to re-set the
camlock studs (A) to do this, Remove tfuai cap-head locking scféw_s(B) and
set each stud so that the scribed ring (Cj is flush with the rear face of the
chuck-with the slit lining up with the locking screw hole (see ng 7

Now mount the chuck or faceplate on the spindle nose and tighten the
three cams in turn. It must be fully tightened. If any of the cams do not

tighten fully remove the chuck or faceplate and re-adjust the stud. Fit and

tighten the locking screw (B) at each stud before remounting the chuck for

work.

This will assist subsequent remounting. Do NOT INTERCHANGE

CHUCKS OR FACE PLATES IF LATHE WITHOUT CHECKING UP
CORRECT CAMIOCKING.

IMPORTANT: Take care note of speed limitations when using

faceplate. 10 in. faceplates should not be run at speeds greater than 770

i

y

_

rev/min.

il
L




Pagé 10

Instructions Manual for AL-540A (L187D) 23/08/2017

LATHE  CONTROLS

1.Spindle speed selector.
2.Apron, surfacing or sliding feeds.
3.Gearbox, threads and feeds.

4.Footbrake.
9.Main motor rotation (forward and reverse).




Page 11 Instructions Manual for AL-540A (L187D) 23/08/2017

ELECTRICAL ~ CONTROLS

The power switches are fitted on the face of electrical box
in back of the bed and below the headstock. Except the main

switch, all electrical controls are fitted in the front of the
headstock.

1. Move the power switch set at ON position then the indicator
lamp glows

2. Press the GREEN button

. The main drive motor can be running
with a moment.

(While the main motorrotation lever is
set in the neutral position.)

Coolant pump ON/OFF push button.

Press the RED button to stop the main motor and coolant pump.

HEADSTOCK
i

B
-

POWER SWITCH

/

-/ ELECTRICAL
5| —BOX

Jw

4 —INDICATOR LAMP /‘

2 —JOG BUTTON k
S

3 —COOLANT PUMP SWITCH

MAIN MOTOR

4 —EMERGENCY STOP SWITCH

.._9_..



Page 12

SPEED CONTROLS

Instructions Manual for AL-540A (L187D)

(2 SPEED MOTOR)

23/08/2017

Spindle speeds: Selected by the two lever controls and a electrical
switch, on the headstock and stand. The sixteen available speeds
are shown directly on the data plate. While the electrical

switch set at (1) position, the small lever rotated right-hand
side, it provides speeds from 1800-510 r.p.m., and rotated to

left-hand side, ot provides speeds from 330-90 r.p.m. Then move
the large lever to the oppropriately coloured arrow aligned with

the required speed on the data plate. While the electrical
switch set at (2) position, it provides speeds from 900-255

r.p.m. and 165-45 r.p.m.

when the small lever set at upper or bottom position, the spindle
is free for hand rotation.

— HIGH SPEED

1 0 2

R

ELECTRICAL SWITCH

LOW SPEED

1 o 2

2




Page 13 Instructions Manual for AL-540A (L187D) 23/08/2017

SPEED CONTROLS

Spindle speeds‘: Selected by the two lever controls on the head-stock. The
eight available speeds are shown directly on the data plate. Rotate the small
lever to right-hand slide, speeds can run from 1800-510 r.p.m and rotate
to left-hand side, provided speeds can be from 330-90 r.p.m Then move
tlhc large lever until the oppropriately coloured arrow is aligned with the

required speed on the date plate.

When the small lever set at upper or bottom position the spindle is free

for hand rotation.

HIGH SPEED LOW SPEED

4
1800 r.p.m. 330 r.p




Instructions Manual for AL-540A (L187D) 23/08/2017

Page 14
THREADS AND FEEDS (Metric Gearbox)

All the threads and feeds directly available from the gear
box are ‘shown in the data plate  fitted ~on the front of the
gear-box.  The  setting of conwol levers is showrd in bellow.

The. B  position of lever (Y) can providle a range of fine
threads: - the A  position a coarse thread range. Do not delect
the range | (A positicm) at  spindle speeds }‘iig.her than 770 rev
min.

THREADS AVAILABLE
37 Metric threads 0.4 to 7.0 mm.pitch
28 Whitworth threads 4 to 56 t.p.i.

The endgear train should be arranged as in the diagrams
shown on the date plate to suit threading requirements.

Feeds: longtudinal feeds per
spindle revolution range from
0.043to  0.653mm.

cross feeds per
spindle revolution range  from
0.015t0 0.220mm.
) Fig.12
|- o 2P
tl2|a|a|6|7]8fl=w~1|2f[3]4f6]|7]8 ||[CMB|2[1|22]1[1 |1
wr | |AL40]45] 808580 65| 0] ] Alesmlo i e sisjo.solo el cs) @' 40 |40 {3232 |30(30 |30
6 B [20|225 25|27 a0(325| a5| | B ra[azuuznhzssmoamm D)~ 60 (60 | 60 | 65|60 |65 |70
)| g | A |10 [ s L) L LSl ns| Amcsialzz[ws]umu.lmmum Al 4 |47|5 576 |63]7
Blos| lowst |7 [oss Brussucaoamhmmwmsms € IB{% |9 |10|11]12]1|1a
0 Alos|ogfro|Lt|raf13]14 ElA]amuogawa’umo.mam0.152 Al16 18 | 20|22 |24 |26 |28
()| |B|o4]oss|05 osf06 00T B}u.wumlaosqo,c:a&o&sumlo.m E B3 (a6 [40|#7] 4852 |56




Page 15

Instructions Manual for AL-540A (L187D) 23/08/2017

THREADS AND FEEDS (Inch Gearbox)

All the threads and feeds directly available from the gear
box are shown on the data plate fitted on the front of the
Gear—box. The setting of control levers is shown In Fig 13.

The B position of lever (Y) can provide a range of fine
threads: the A position a coarse thread range. Do not delect
the range (A position) at spindle speeds higher than 770 rev/

min.
THREADS AVAILABLE

40 whitworth threads 4.0 to 112 t.p.1i.
22 Metric threads 0.45 to 7.5 mm. Pitch

The endgear train should be arranged as in the diagrams

shown on the date plate to suit threading requirements.

Feeds: longitudinal feeds per
spindle  revolution range from
0012 to .0294 in (0.0030 to
0.746 mm.)

cross feeds per
spindle revolution range from
.0004 to .0108 in. (0.010 to
0.271 mm.)

Fig.13

— 11
ha > e
19
OF

&

E

,_'}
—
L+
w
s
o
L=2]
-
oo

121 40
" ()
4 |43 s| 51 53 6 5{7—--
.294 |.0251(.0235|.0211).0206|.0196/.0181].0168} | FTO (D
0.147(.0117.0131/.0107 | .0102/.0098 |.C030 |.0084 ; 3 6

16 | 1820|2223 |24 |26 |28 |[AC

75 | 60 [ 50 | 48 |45 | 40
.0073|.0065).0058.0053}.0051| .0049].0045|.0042
32 (36| 40 | 44 | 46 | 48 | 52 | 56 || BC| 3% | 30 | 25 |24 |25 | 20 | 18

.0042/.0038/.0034) .0031.0030.0028.0u26[.0024| [ AE L5 |15 L2 Lo | ag

64 | 72 80| 88 | 92 | 96 | 104 | 112
.0021].0019|.0017].0015[,0015/.0014/.0013{.0012

R e R e T
127 W0 Y
O 40 ‘0

3

1 2 3

BE a7 a6 as | a4

Tmmimolo|o|ol oo

CAENEIEYES




Page 16 Instructions Manual for AL-540A (L187D) 23/08/2017

THREADING DIAL INDICATOR

A. Whitworth threads

Located on right-hand side of the apron on lathes having an
English leadscrew. Engage the indicator pinion with the leadscrew
and tighten the handnut to retain indicator in engagement,.

To cut threads of an even number perinch , close the leadscrew
nut as .ANY line on the dial passes the datum mark. Tocut threads
of odd numbers per inch, close the leadscrew nut at any NUMBERED
line. 1
Fractional threads of 3 or 3 t.p.i. may be cut by closing
the nut at the SAME numbered line on each pass of the tool.

This dial cannot be used with an English leadscrew to cut
metricthreads , or fractionalthreads . For thesethe leadscrew nut
must be kept closed and the machine reversed by use of the Change-
over switch, after each cutting passand tool with drawal.

B. Metricthreads
Thethread dial used for cutting metric screw threads on

lathes equipped with metric leadscrew. To provide forthe various
pitches of metricthreads, several gears having different numbers
of teeth are mounted onthe lower end ofthe shaft. The vertical
position ofthethread dialindicatioris changed as required so
thatthecorrect gear forthe Pitch ofthethread to be cut will
mesh with the leadscrew.
Each graduation onthedialis marked with s letter which

indicatesthe points at whichthe halfnuts may be engaged for
.certainthreads. A diagramis supplied with thethread dialto
show which gear and which graduations must be used for each pitch
of metric screwthread.

THREADING DIAL INDICATOR

WHITWORTH THREAD DIAL METRIC THREAD DIAL S

(et L[t L[] VY [Pe [T Pe s

04 |20] 4114 |21] 3

4 11-8/121-8 38/1-8 045 [27] 3|15 [27] 3

1135313 (1-4] 40|1-8 05 l20f4]1.625][26] 2

0.55 |22| 2]1.75 |21] 3

43| 1 |14 |1-8] 44]1-8 R IR E

5 |1-4/ 16 [1-8] 48|1-8 0.625 [20] 4 | 2.25 |27] 3
0. 2 5 |2

%; f‘g 13 ::i gé]'g o_gs 2? ; 2?5 22 ;
= - . 075 |27] 3|30 |27

51143]20[1-8] 64]1-8 0.8 |20] 4]3.25 |26 :

7 [1-422 18 12[1-8] 5T

= 1-8 - 1.0 [20]4]45 |27 3

g :g gg 8 Eg:_g 11 |22] 2|50 [20]4

1125 [27] 3|55 |22] 2

931+3|28|1-8| 88[1-8 12 |27]3]60 12713

10/1-8/32 |1-8] 96[1-8] (12 120 <108 fo]2

(11 ]1-4] 36 |1-8[100(1-8 1375 [22] 2
LEADSCREW LEADSCREW PITCH 8TPI G LEAD SCREW PITCH4 MM J




Page 17 Instructions Manual for AL-540A (L187D) 23/08/2017

APRON  CONTROLS

«n addition to handwheel traverse, the carriage can be power-operated
through controls on.the front of the apron, see Fig 16 kﬁob(A). If move
handle(A) upwards ,carria}ge would do longitudinal-teed operation. If move
handle(A) in middte pos.i'tion, it would do manual Operation. If move
handle (A)downwards, it would do cross-feed operation.

Lever (B) 1s pressed downward to engage the leadscrew nut for

screwcutting. To avoid -undue wear. Release the nut except when

screwcutting.

Fig. 16



Page 18 Instructions Manual for AL-540A (L187D) 23/08/2017

CROSS-SLIDE AND TOP-SLIDE

A topslide is fitted as standard to the cross-slide. Carried on a
rotatable base, the cross-slide is marked 45-0-45 deg. for accurate indexing.

Hand wheel dials are graduated in inch or metric divisions to suti the
operating screw and nut fitted.

The c;ross-slide can be power operated by pulling out the hand knob
(A), atone-third sliding feed per spindle revolu-tion,or it can be hand-
operated using the large-diameter dial graduated in either inch or metric

division to suit the operating screw and nut fitted.

TOP-SLIDE CROSS-SLIDE RELEASE

KNOB TYPE



Page 19 Instructions Manual for AL-540A (L187D) 23/08/2017

TAIL  STOCK

Can be free movement along the bed by unlocking the clamp lever
(A).

The tailstock barrel i1s locked by lever (B).

The tailstock can be set-over for production of shallow tapers or for re-
alighment. Release the clamping lever and adjust screws (S) at each side of
the base to move tailstock laterally across the base. An indication of the
setoveris given by the datum mark (C)atthetailstock end face,as

shownin Fig 18.Apply clamp lever after adjustment of set-over.

-

—I—hhl—l—l—l-l—h.]
.
LTI 4]

—
e e ‘

S . ‘ =

H]

iy

2 -

Fig. 18



Page 20 Instructions Manual for AL-540A (L187D) 23/08/2017

LATHE  ALIGNMENT (part 1)

with the lathe installed and running, we recommed a check
on machine alignment before commencing work. Check levelling
and machine alignment at regular periods to ensure continued
Lathe accuracy.

Headstock check:Take a light cut-with a keen tool over a
Bin.(150mm.) Length of 2 in.dia. (50mm) steel bar gripped
inthe chuck but not supported at the free end. Micrometer
readings at each end of the turned length (at A and B of Fig
19) should be the same.

To correct a difference in readings, slacken and release
the four headstock hold-down screws (J) shown in Fig 19 and
adjust the set-over pad (K) beneath the headstock. Then tighten
all screws. After adjustment, repeat the test -cut/micrometer-
reading until micrometer readings are identical so that
machine cutting will be absolutely parallel.

HEADSTOCK

)

&,V
/. ./ /A
S

}ﬁ"
3505@
3 -

/

Fig. 19



Page 21 Instructions Manual for AL-540A (L187D) 23/08/2017

LATHE  ALIGNMENT (part2)

Tailstock. check: Using a 12 in. (305 mm.) ground steel bar fitted
between centers of headstock and tailstock. Check the alignment by fitting a
dial-test indicator to the topslide and traversing the center line of the bar.

To correct error ,release the tailstock clamp lever and adjust the two
set-over screws provided .Continuously check and correct until the alignment

is perfect.

. 12in. .
305 mm. []

, [ ==

@4—»@ | | N x\ L
\ I[[E :DDE TAILSTOCK

HEADSTOCK TOPSLIDE
TAILSTOCK CLAMP LEVER

[

SET-OVER SCREWS



23/08/2017
Instructions Manual for AL-540A (L187D)
Page 22

END  GEAR TRAIN

HEADSTOCK
Drive from headstock to gear-
box is transmitted through a \U}@ /\’o
gear train enclosed by the head- O o
stock end -guard. Intermediate
gears are carried on an adjust- _/
able swing frame (M). _ ——r—

Gears must be thoroughly

cleaned before fitting and

backlash maintained at. 005 in.

(.127mm.) Lubricate gears

reqularly with thick oil or grease.

DRIVING BELTS

To alter belt tension,remove r
Pully

the coverplatein back of the

headstock block and adjust the
two screws (X) on the hinged

motor platform. Ensure that the

14—/

motor is correctly alighted with
thelathe axis.

Light finger pressure at a

point midway between motor and

headstock pulleys should produce

about 3/4in.(19mm.) movement,

of each belt when under correct

tension,




Page 23 ) Instructions Manual for AL-540A (L187D)

SLIDE ~ WAYS  ATTENTION

Tapered gib strips are fitted to-
slideways of saddle. cross-slide and top
(compound) slides so that any slackness
which may develop can be rectified.

Ensure that slideways are thoughly
cleaned and lubricated before attempting
adjustment. Then reset the gibs by
slackening the rear gib screw and tigh-
tening the front screw .Check constantly
for smooth action throughout full slide

travel. avoid over-adjustment which can

result in increased wear-rate and stiff GIB ADJUSTERS

or jerky action.

CROSS-SLIDE NUT CAP-HEAD SCREW

This is adjustable for elimi-

nation of slackness which may NUT
develop in service.Reduce back-
lash by the cap-head screw in the
rear of the nut. Then make only
small adjustment by the cap-head
screw, Before operating the

cross-slide, check several times
by hand to be sure of smooth
operation throughout travel. '

23/08/2017




Page 24 Instructions Manual for AL-540A (L187D) 23/08/2017

LUBRICATION (part 1)

The headstock and gearbox are splash-lubricated from an internaj
reservoir of oil (Shell Tellus 27). Check the oil leve] constantly to the
mark on the oil sight window in the front end face of the headstock and
gearbox. A weekly check is recommended .The oil need be changed every
year. Oil through a filler cap in the top of the headstock and gearbox is
covered by the end-guard. Drain from a drain plug in the bottom of the

headstock and gearbox.

The apron is lubricated from an internal reservoir of oil. The oil sight
window is in the front of the apron. A filler cap is in the top of the
saddle. Refill the reservoir to the level of the oilsight with Shell Tonna oil

33, The apron can be drained by unscrewing a hexheaded drain plug in the

bottom.

FILLER CAP HEADSTOCK APRON

/
\ FILLER CAP
)
e —

l
o

1}

DRAIN PLUG GEARBOX DRAIN PLUG




Page 25 Instructions Manual for AL-540A (L187D) 23/08/2017

LUBRICATION (Part2)

In addition , oil gun is provided for the saddle, cross-slide
crossslide nut and top-sliae (compound slide) to oil.Leadscrew

using a oil gun can be oiled with light machine oil or way lu-
bricant.

On the tailstock, oil points are provided for daily attention
from a standard oil can.

It is recommended that all slideways, leadscrew and feed

shaft are cleaned off (a bristle paint brush is useful for this)
and lightly oiled after each period of work.

NOTE: Using incorrect grades of oil can cause damage

OILER POINTS

OILER POINTS H/ | ‘

A y,

e (((((((((((((((((T{

— N
S SeNfl=

\ OILER POINTS
S =




Page 26

Instructions Manual for AL-540A (L187D)

23/08/2017

LUBRICATION DIAGRAM
]
—
A |
/ a:oéé > 8 i
) @]
3 o ( &

iE] —

A) — TOP-UP EVERY WEEK

‘B) — OIL EVERY DAY

_— . -

@




23/08/2017

Instructions Manual for AL-540A (L187D)

Page 27

dE/T009/a0ct
461105 /aert
dE/TH0S /ANt
dE/T005 /1011
dE/2005 /ULy,
dE/TIS JASTY
L T

dE/Th0s /anee

PP T
HCT L Gt LT
.-- Tt “A__.Hﬂ "t

Iy A€/
R M

LU I

LT T

LERRLL Pyt

Licimmisin

L]

1\
ﬁ N
PRI

|
|
[
|
!
[
|
|
_
[
[
[
*
_
[
*
|
_
|
|
|
_
I
_
|
!
[
_
|
_
_
I
_
_
_
|
!
[
[
|
[
I
I
_
!
|
_
!
[
I
!

A Kl AUKE /A0t

b _
D°p T ane
ERY Eﬁ ) \ 95T | OTR/ASTR/ADOR/AOSS

—_————-

'
/ _ l- |
5\ §
X

_ A

o) . —

10100 §u1]00)

]
|
|
| P
\
g "
|

-® — o=
- \ -
10j0m 3ypuidg
(1) DeI8eIp 011309]g



23/08/2017

Instructions Manual for AL-540A (L187D)

Page 28

Jojom Burjo00)

) il |

- |
" |
LA m#ﬁ= H
|
__
71 I m
S |
E-e-O M m

m |

sy | o

__ |
|
IS{ 22 1 IS177] 1Y |
__
U/ L / / U/ (R “_
e 13 i

/ | L L7 I
L S SN
s 8 l
# e
¥ s 1y

1010m 9ypurdg

(1) weiderp oy1109]g



Page 29 ' Instructions Manual for AL-540A (L187D) 23/08/2017

Blectric diagram(2)

Transformer .. R Joggi
Nachine 1ight Pover light prerie foseine
TC 1 ’m-‘ 9 Forward Cooling
| S8l
g F2 ¢
43
0
L | )\
tl."l':'.‘ﬁl'f‘.il’ ilﬂ,"lﬂ,!_(_]_
I KA ;
R Nsut
TOVASATTFP | 20V 4T, 14T ﬁ
[ I
® £\ W
S A
kN1
Y |14
Ul 3 17
AN TR (! N

18

PE

= A TR T (6 Tl

horerwires of the page adopt multi-ply copper wires of 0.75m’ ??:gg

_2’}'._



2017
Instructions Manual for AL-540A (L187D) 23/08/

Page 30
Blectric disgram(2)
T "
Ha;;i;ioi?;;t Rove Light Reverse Jogging
T€ . Forward Cooling
“R L é | S——
; % o A G/®
-5 3
,
A\ S
I
1I0¥/5002/:° | ‘.'I.'I.':'l"'lll.‘l:v'f,!l'\'
Lz‘::v?!:nl:zitr. ‘!-l.}h.flfll'.,l:ﬂ' XSQI
WOV/60RL/:? DO, 9Y 6
N
1) B\ W
07—\
kN1
Voo | 14
SQ47-—-)

_ 11 17
2 8 \IHI \[EMI \EN1
\ 12415 1
m

LI CIC] L]

o
tT

EL HL KH1  EM2  KM3 (N4

Note:#ires of the page adopt wulti-ply copper wires of 0.75aa’

tHISITIAT
ST
Sy
LT

_28_



23/08/2017

Instructions Manual for AL-540A (L187D)

Page 31

G AN0% A

JEFZHDSIADLY
JUZHOSIADOY
JLZHOS/ AR

L

sy SOOI (o IO v | OO Lo BT
0101 Zte|l el PV 199 R|t1I{vI|b1]LI]|OT m}p.lm& EN0IM
Olo|t onfm| AN

oiAloin] M| A N mv
WX

108

11T
61| O] O _mm_
¥T A0 |AO [AYT
o} )
(O |nozarorz|aos
M

00FNOZY
|

L

[yl 4 4 a 4
. [ stlzm|zalzn]
A= | vy ([ Ave || e || ke

crjafajn]

woi] [ ]

S [A AT

91

15

.w_iich

uonoouu0d [aued J1329[




23/08/2017

Instructions Manual for AL-540A (L187D)

' Page 32

CTOTCE[ETb [P OB pIpLTloz el Teaamiaam i it O
(LY
a[c { mim VLIPS ITTIRTIPTILTIOTISALEh (S lORIOTAloIn] K T A | D
D R T i T s T s W Y D T D D D W D W W W
7 N )
L Crrr i
AT A0 [ A0 orm @J
1] ST T T T T T T
, TCISLIEMIEAE D] [OT{ 8 | omAjoralom ]
,Msi 0bTAOBEA00 MAOTH e % _ -$MLW‘ ﬁMWNJ
\ /] ] AT
Al U d /)
ﬁﬁﬁ / N \ NN N ch N\ 4 N\ glﬂ
@:ﬁ:: cgcmﬁzs Al ACA ﬁmz
= e e e £ X hed £3OAD
O PE0 P g PPP | PP
%_z_:z: :__:Z ,@_,ﬁ:;:;_ mIx_:_:; |
O H_ﬁﬁ \ ﬁr /) \ u.: ; ;¥ . !\L Q)

=oﬁgo@mmmmr_o=ma DTII99TH

-30-



23/08/2017

Instructions Manual for AL-540A (L187D)

Page 33

{LX
0101 T{ElE P[P I9]9(8(TTPTIPTILIIOTICAIENITNITAITZITE]S | Y
1 1 )Y Y)Y Y \J L) ) J/J/J, Y Y5 )
i e R i
AVTI A0 | AQ b @

] |8 e e o
elarfleal Tenl  [oiTs [Teal Tin — =]
o ;:E%Eg;:t Y-AuH gl e th

\ /] o] [och is] iy

([ 1 iy 1]
9 ITIPTILT DA |0 LISz CIIS|TZ|TY
ﬁ._i-.v/.w.w i N w N am DD |l PP
g_ﬁ § LIS I]81 c CTT I ?__ JLIEN! :___._@._m.m_:_.w.& |
O Apﬁ/ﬁ/_r UN_¥ \fo\ /w: [/ |u;\ P O
: U0139auu0d Jauerd 211109]F | o - o |

_31_



23/08/2017

Instructions Manual for AL-540A (L187D)

Page 34

LT N S S B . S
sl U LU0 o ) | o
RN N L e T @ /|00 o1 wnd
R 1T A\ LD |
L i . _aﬁ\wnﬁm _ra_ | QUM R
F LY (W wA,ﬁﬁﬁu
s ' A RLULEYDE
oL | L
ol | e e
T | ] N |
m | U | # "
| . Y S S R . W N |
m AN < |/.|/ N ) g _"
) =l l—l | — T L ) 1Y ) ) ) Y ) i
L0 0T e 998 (TTIP TP T{LTI0T | & [CH) EAJE N & |OTM|OTA| O & | A |

00T T e S o w9 o 8 [TTIPTRTILT 0T s | CAlch cn|a [O[OAlo] = [R] AN

S1UQUOC0WOY 0117099 9pIS 100 PUB [QURd 0117099 U3IQMIAQ UOT}IQULOD Ay

_32_



23/08/2017

Instructions Manual for AL-540A (L187D)

Page 35

s oA W
m-,.,J ) |“|..- _, m _" 31Q®2 1ndul
_ “_ __ A "_ x0q 27989 jndul
'y . I
- U o | L
T PO |y
) | HEY!
I T L ]
-l . i vl
T {me ;ﬁﬂ | |
| L — 1 m
I s oy g —T T T LT T YT Yy |
O LOTCTETE TP T8 [TOlpT b I [LT[07 & [€ATEATEAT ™ [GUR[OATON & AT AT Ny
| LY
Lo T el v v o9 I8 [TrivTfprliTion]m [CALEATCN] % [OOIMIOINT % [ A [ A [0

SJUBUOCWOY 911109[9 9PIS 100 PUB [AUBD 21JJ09]9 UYIM)AY UUIIIUUOD 3y

._.33._



23/08/2017

Instructions Manual for AL-540A (L187D)

Page 36

_.?E_

FLA LIV

finn hpatiaan plapt

HIHAE

input cable box

Input cable

okl sl

A

|~

Ml

PEITAIEY) |

M2




Page 37 Instructions Manual for AL-540A (L187D) 23/08/2017

Electric Panel

KM4

KM2

KM3
FR1
FR2 : MABR SR
R ICE LR &
XT2
| 38OV/5011Z/3P
100V/50H7/3P
A15V/50H2/ 3P

L 420V/5011Z/3P




Page 38 Instructions Manual for AL-540A (L187D) 23/08/2017

KM3 KM4
KM?2
FU1 KM1
FU2
TC
FR1
220V/50HZ/3P
FR2 XT2 220V/60HZ/3P
240V/50HZ/3P
240V/60HZ/3P ]
KM?2
KMI1
FU1
FU2
FR1 TC
FR1
X12 220V/50HZ/1P
220V/60HZ/1P
240V/50HZ/1P
240V/60HZ/ 1P ]




Page 39

Instructions Manual for AL-540A (L187D)

Input cable box

23/08/2017

220V/50HZ/1P

220V/60HZ/1P

240V/50HZ/1P

240V/60HZ/1P

220V/50HZ/3P

220V/6017/3P

240V/30HZ/3P

240V/60HZ/3P

380V/50HZ/3P

400V/5011Z/3P

415Y/5017/3P

420V/5007/3P




Page 40

SB1

SQ3
SQ4

Instructions Manual for AL-540A (L187D)

23/08/2017

SB2

SA3

SA2
220V/50H7,/3pP
220V/60117/3p
240V/50H7 /3P |

240V/60HZ/3P

380V/50H7/3P

100V/50HZ/3P

415V/50017./ 3P

120V/501Z/3P




Page 41

SQ3
SQ4

Instructions Manual for AL-540A (L187D)

23/08/2017

SA3

(oL

220V/50HZ/1P

220V/60HZ/1P

240V/50HZ/1P

240V/60HZ/1P




23/08/2017

Instructions Manual for AL-540A (L187D)

Page 42

SQ2

M1




Page 43

Instructions Manual for AL-540A (L187D)

SAl

23/08/2017

| | SQI

input cable box




23/08/2017

Page 44 Instructions Manual for AL-540A (L187D)
Electrical element list
Symbol Name Type Quantity Note
M1 Motor AECP-VL512
M2 Motor DB-12A
- CN-11(3Ala) AC24V 50/60HZ 3PH
WML | 4L Contrageor EN-11(3Ala) AC24V 50/60H7 1PH
. ) CN-11 (3A1b) AC24V 50/60HZ 380V/400V/415V/420V
il P CIX5-22 AC24V_50/60HZ 220V/240V
) CN-11(3A1b) AC24V 50/60HZ 380V/400V/415V/420V
KM3 AC Contract
onractor ™ CjX5-22  AC24V 50/60HZ 220V/240V
KM4 AC Contractor CN-11(3Ala) AC24V 50/60HZ
. JBK3-100
TC Transformer Primary: 0-220V-380V-400V-420V
Secondary: 0-24V, 0-24V-29V
FU1 Fuse BLE—I 27
FU2 Fuse __ BLF-1 2A
| Heating device JRS5-20/F 11A 220V/240V
FRI
relay JRS5-12  4-9A 380V/400V/415V/420V
Heating device JRS5-20/F 0. 9A 220V/240V
FR2
’ relay JRS5-12 0. 28-0. 42A 380V/400V/415V/420V
SAl | Selector switch AK-N _ 220V-15A
SA2 | Selector switch AK-N  220V-15A
SA3 Coolant Tss25 1A1B
SB1 Rest JBK25 1A1B
SB2 Jogging JBF25 1A1B
HL Indicator lamp AD17-22
SQ1 Jiggle switch LXW5-11Q
SQ2 Jiggle switch T™1701
SQ3 Jiggle switch LXW5-11D1
SQ4 Jiggle switch LXWb-11D1
EL Machine light AC24V 40W

_42._



2017
Page 45 Instructions Manual for AL-540A (L187D) 23/08/.

HEADSTOCK

g g g g H g/ eSS

1070
GB123s T2 o
15.x2.65(4) -
GB77
M8x12(2)
GB2089
1x5x22
GB78

GB308#6(2) M5x15 GB879

5x30

M6x 12(2)

J GB70
L % M6x12
1063 1080
[ ié 1061 é ;\ .
GB879 b ccomrrn
o M5x30

*35
F w’szB‘.OQGQ\ \g
/5x18 1081
o
1065 %
1069 1072
% GB77 1079
_"° o M12x12(2 /
Gg:‘(%? 2 1055 1067(2)

GB70 @
1059(2) % < M6x12(2)
1050
£ j—-—- 1058

GB12 D
spizss 0 /@ %

1064
ﬂ —— 1091
1079 W 1080 _— 1056

GB70 GB5781
% —Méx12 M10x40(2)

GB70
S M12x30(2)



Page 46 Instructions Manual for AL-540A (L187D) 23/08/2017

" HEADSTOCK
GBB96 6 oB276

GBB879 s 1007 GB§94.2 E205
5x25 25

A GB3452.1

19x2.65

GB70
MBx20

20

GB276
E204(2)

GB1086
8X50

GB1235
40x3.55

1017
GBB93.1
47

GB70
M6x20(3)

GB894.2
GBB94.2 37




Page 47 Instructions Manual for AL-540A (L187D) 23/08/2017

HEADSTOCK

1

M5x14(2
7 (2)

& \GB70

\
1088(3)—
G
=y GB2089 %q,@
0.6x4x22(3) /
GB70
1020 M8x16(3)

M6x25(3)
GB1096
5x16

1021

GB1235
23.6x2.65

GB894.2
GB276 \ 20

HG4-692-67
SD25x40x10

GB70 EE

5\ GB70
MBx16(3) . M6x12(3)



Page 48

GEARBOX .

GB819
M4x10(8) _

3005

GB70
M8x25(2)

GB879
5x28(2)

Gero GB78
/MSx10(2) MEx8

Instructions Manual for AL-540A (L187D)

23/08/2017

O

GB1160
12

—

@ /MBXdO

GB873 .
\ 5 Ex20 P8
\ PR -. / 3055 3088
5 ? . \
\ 6.5
GB73 _ @ \Q \
o 5%x20 0.8x&x25(4)
¥ - ; . GB10%6
0 S 4x10 \
O S [* o
;'r\ s

SN
GB73__ Z oF 5| 3036
f - !
~ M6x8(2) 3945( } f 681095

| 3062

I ‘
0/2B285.3 Sy

2G3/e"

\:3??
ﬂ48x3(4)

MEGx16
e
AR
il <

GB818

3043 Widd



Page 49 Instructions Manual for AL-540A (L187D) 23/08/2017

GEARBOX Inch system

GB70 3035
M6x20(3)

M6x16(2
3032 3034 MEX18(2)

GB894.1 GB276 05-66
20 202 :

7000102

GB1096 GB1096
6x14

3
GB8%4.1 303%a 5x14

GB3452.1

GB70 3034 3032 202
M6x16(2)

GB276
GB8g4.1 202

&%

3013 M6x16(3)

GB301 3020
8104

3012



Page 50 Instructions Manual for AL-540A (L187D) 23/08/2017

GEARBOX Metrit system

3001 :
GB1095 IS = o 3006

MEx162)

\ \ 2032
GB8gs 1 5GB276 3034

J B
GB276 \ 5 ac ,
7000102 GB8g4.1 20 202 )

20

2 @ /
@ ‘@3 GB21° 1022
= =4 / 02
||I GB

goa 2023 20

| . 29
931 064  OBZ c
Ga:?z{?‘ 3 1000804(2)

GBloes  Gayy,

\ 3032 GB276 GB3452.1

6570 202 15%2.65

| Mex16(2) 3034 @

i | o8
’ o M




Page 51 Instructions Manual for AL-540A (L187D)

APRON Left hand, Lcver type

GBYOD

GBTY

#
rd

MBx16(2)

5B78
Mox1C 3

23/08/2017

M- //‘;}_X.ﬂ_
MBx16(2) P o
GB7o ”6 LA 40
~., MBx12{2) ]x._\
- - ’/ ‘—\ - Gl-"l‘fl'\
' isfjf:{, /é\)}! ’__Q-‘-ih N 31: 3
) Y P
! / T~
,->::\\J \| t/ L\Ly// R
/65;3/ 4054 agzr T %\) 4022
// & N\ 570 5026 < Qf)



Page 52 Instructions Manual for AL-540A (L187D) 23/08/2017

APRON Left hand, Lever type

4015

GB894.1

16 4012

GB1096
5x15

3

G

& ,

&7,
e




Page 53 Instructions Manual for AL-540A (L187D) 23/08/2017

SADDLE & CROSs-SLIDE ~ Telescopic type
; GB70  545q
5053 5021 5011 M6X20 5020 5024
5054 GB1155 :
Msfs?o(iz)eg?’é
)

GB820
M5x8(6)

5024
: - T GB819
M3X5(2)
5034 4
GB1096-79
P & 6 = 4X20
5008a(IN)
5008(M)
GB70 GB70
i M6X20 _ M6X20 GB1155
& e
5016
S 3
GB78 5056
M6x25
/‘ﬁ’&’;9 5043 o[>
-~
5045 L /
5043 ° ‘ 40,

S5 <

5042 | O

X/
¢
%

(LT
QI

5004
z 2L - o
s e G 8*20 ‘s—
' (11} =
5010 . 5
6 9055 GB818
% =) °\ M5x10(8) CB78
I & Q> M6x20 (3
GB70 T s
M8x20(2) 5010 £ G86170
2 M8(3)
S E 5044
- N N
GB70" & AN
M8X20 (2)



23/08/2017
Page 54 Instructions Manual for AL-540A (L187D) 3/

TOP SLIDE, TOOL POST

5031

5033
GB83
—M10X50(8) 5032
5030 :
5028
@______ 5027
5025 _
GB1155 ___ 5026
5036
5037a(IN)
5037(M)
5038 (iN}/ 5039
5038a(M)
o g8

8103 s5040a(1N)
5040(M) /  5050(2)



Page 55 Instructions Manual for AL-540A (L187D) 23/08/2017

TAILSTOCK GB70

MSXZ{\J(S)

8013 8O 11a(IN)

8011(M)

8024  g014a(IN)
8014(M)

GB1155
10(2)

]
80\01

M6x16(2) N
8
} CS

)

L ¥ 5
8023 %'L.( AN l @\x %@ mBr45(2)
i

s
'Sﬂ

GBB79- .
5x12 ""P' "' X2,
G877
M6x16 “...I...’ £

-

GB41 @
M6 ~
8021
8002
8022 =)
b =

TR bosre
V" 12x75



Page 56 Instructions Manual for AL-540A (L187D) 23/08/2017

BED & SHAFTS

GBe172

" MB&

_FC‘:5881

GB7C T &x60
M10x40(4)

;

7004

GE5781 \
M12x50(6)

G870 GB117
M6x25(6) \ 5x80(2)
7050 GB301-64

8104(2)

7006a(IN) Z
7006
./-
=\ GBa1

CB&79 M6(2)
5x35 !
\ GB7

7057(2) GB7g M5x20 E:\
i MEx16(2) T
OB ;
]
& ™~ 6a7g

3 MB8x10(2)
| GBaos
7044 D612)

G873 M6x20(2

704 mex15 \ \ r/
Gaak \g’ 7003 R
Max10(4) Gere NS \ SYK
\ MBx 18 & : 7
\ 7433



Page 57

CABINET &

GBa7s
M5x6(5)

GRE18
M6Ex10(3)

s
=]

10007
v

GBadz23

t SRR

Instructions Manual for AL-540A (L187D) 23/08/2017
34l
PANELS
it QL
T . - Y
- ._-:_1’:‘ e a ‘ N
7009 T S W\
_l*ﬂ-""" S H \\\
- = 1 \\\
-":_::..-g/ﬂ _JI \I>'\*
e ’_,.-"’ el b .::_'_":,F
— 5 \ |
=< 68818 T \ e
T&:}“*% 5 MBx10(} e \ :',‘
+. — - “a
o ‘/__,——' P e
i i
= oy -
- % )
% i § = - 234
i i iy R Rt !
fels B9y e
| \ -." . .Ii"f,‘/lc.gﬂ “r)l:_\ ‘_ﬂ::—:,-' 1‘5‘ e _:»_,._“
| O RV T ~
- f‘ﬁ _,..r'" -

'\%E.!ﬁ;czf}{-i} //// P
GEBIT0 -
@ : ¥ / - i




Page 58 Instructions Manual for AL-540A (L187D)

SWING FRAME,END GEARS & COVER

Metric system ‘GB1096

2019

GB70
Change gear 407 M5x16

12-140HV

Change gear

5T 2007
60T 2008
70T  200¢

23/08/2017




Page 59 Instructions Manual for AL-540A (L187D)

SWING FRAME. END GEARS & COVER
Inch system

GB1096
018 sx14 =

25T 20156 (13inch)

Change gear 30T 2016(14inch)
\ SB?’? 2014
j 40T 2018 (13inch) M°X16
50T2007a (14inch) )

30T 2016 (13inch)
45T 2015a (14inch)

2013 120T/127T7
o

GB8931
35
2012 \
GB6175
M10
12-140Hv
@ GB41,
@ GB276
103
/K G
M10x80
GEARBOX
Gb70
C4-77 2033(3inch)
2003(14inch)
50T 2007a(13inch)
60t 2007(14inch)
GB70 32T 201713inch)
M6x25

50T 2007a(14inch)

GBE172 40T
MB |

201s““Chcmge gear

23/08/2017



Page 60 Instructions Manual for AL-540A (L187D) 23/08/2017

THREADING DIALS
INCH

ST — 4038a
o/
4039a-1
—
(&)
Gasrgf’/&\\“%
3x12

GB879 /S\

5X20 L)

M M

4038
4041

217 (b I
4042
221
4043
20671
7 &
4044 i '
27T




Page 61 Instructions Manual for AL-540A (L187D) 23/08/2017

PRECISON LATHE

PACKING LIST

SPECIFICATIONS: 1440A
NET WEIGHT: 750Kg
GROSS WEIGHT: 850Kg

DIMENSION (LXWXH): 1950X760X 1480mm





